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1. The estimated sum of 28019 and 32925 is ?

2.13227+0= + 13227

3. 3 Lakhs more than 1432526 is

4. Simplify i) 25X 8358 X 4 i) 95637 x100

5. Abike travelled 486 km in 6 hours. How far did it travel in 4 hours
6. What should be added to the product 103 X301 to get 31103

7. There are 32 boys in a physical fitness camp. If the total students are 4
times the numberof boys then how many girls were there?

8. Difference between the successor of 32760019 and predecessor of
48720000

9. What is difference in the place value of the digits 8 and 6 in the humeral
8962321

10. In the number 3.4625 the place value of the digit 2 is




